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QUESTION 1

What response type needs to be used in the exposed IBM Cloud Function REST API if it uses path parameters?
A. Text

B. JSON

C.HTTP

D. JavaScript

Correct Answer: B

QUESTION 2

In Istio, the control plane configures mixers for which two items?
A. Sidecar

B. Data logging

C. User registry

D. Enforcing policies

E. Collecting telemetry

Correct Answer: AD

QUESTION 3

In IBM Cloud Kubernetes Service, what is used to declare all of the components of an application and its
dependencies?

A. Module

B. Node

C. Replica

D. Deployment

Correct Answer: D

QUESTION 4

What does Watson Text to Speech service use as the metric for how much usage of the service will cost?
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A. Words

B. Sentences
C. Utterances
D. Characters

Correct Answer: A

QUESTION 5

In IBM API Connect, a user is unable to subscribe to a billing Plan with a Product. How can the error be solved?
A. Ensure that the correct version of Node.js is installed

B. Enable or increase the permission level of cookies in the browser settings

C. Close the already started instance of the API Designer in another command window

D. Ensure that there are fewer than 25 instances in the IBM Cloud APl Connect service

Correct Answer: D
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